ApxaHrenbck (8182)63-90-72
AcTtana (7172)727-132
AcTpaxaHb (8512)99-46-04
BapHayn (3852)73-04-60
Benropop (4722)40-23-64
BpsaHck (4832)59-03-52
BnapusocTok (423)249-28-31
Bonrorpap (844)278-03-48
Bonorga (8172)26-41-59
BopoHex (473)204-51-73
EkaTepuHGypr (343)384-55-89
WBaHoBo (4932)77-34-06

WxeBck (3412)26-03-58
WpkyTck (395)279-98-46
KasaHb (843)206-01-48
Kanunuurpap (4012)72-03-81
Kanyra (4842)92-23-67
KemepoBo (3842)65-04-62
KupoB (8332)68-02-04
KpacHopap (861)203-40-90
KpacHosipck (391)204-63-61
Kypck (4712)77-13-04

Nuneuk (4742)52-20-81

Kuprusua (996)312-96-26-47

Marnutoropck (3519)55-03-13
MockBa (495)268-04-70
MypmaHck  (8152)59-64-93
Ha6epexHble YenHbl (8552)20-53-41
HwxHuin Hoeropop (831)429-08-12
HoBoky3Heuk (3843)20-46-81
HoBocubupck (383)227-86-73
Omck (3812)21-46-40

Open (4862)44-53-42

OpeH6ypr (3532)37-68-04

MeHsa (8412)22-31-16

Poccua (495)268-04-70

Mepmb (342)205-81-47
PocToB-Ha-[loHy (863)308-18-15
PsasaHb (4912)46-61-64
Camapa (846)206-03-16
CaHkT-lNMeTepbypr (812)309-46-40
CapartoB (845)249-38-78
CeBactononb (8692)22-31-93
Cumdepononb (3652)67-13-56
CmoneHck (4812)29-41-54
Coum (862)225-72-31
CraBpononb (8652)20-65-13

KazaxcTaH (772)734-952-31

https://celette.nt-rt.ru || cfe@nt-rt.ru

MpuHapnexHoCcTN K NOABLEMHO-TAroBbIM nNrnatdopmMam

Cypryt (3462)77-98-35
Teepb (4822)63-31-35
Tomck (3822)98-41-53
Tyna (4872)74-02-29
TiomeHb (3452)66-21-18
YnbaAHoBCK (8422)24-23-59
Ydha (347)229-48-12
Xa6apoBck (4212)92-98-04
YenabuHck (351)202-03-61
Yepenosewy, (8202)49-02-64
ApocnaBnb (4852)69-52-93

Light and heavy plateform are famous for quick repair especially for light / medium damage.
Only, metric and electronic measuring system can be associated.

VEGAMAX TOWER EXTENSION

SUPPORT BRAS APPU

LATERAL PULLING ACCESSORY

KIT TO PLACE THE WHEELS IN POSITION

LIFTING ARM FOR VEGAMAX TOWER

KIT FOR NAJA ON AppU™"

)

2 LIFTING PLATES FOR LYNX I

=Za

KIT DE LEVAGE POUR LYNX I



https://celette.nt-rt.ru
mailto:cfe@nt-rt.ru

KIT LYNX 2 ENCASTRE

..

4 STANDS FOR VEGA"-"AppU™""

2 WHEELS SUPPORTS FOR X-ONE

RUNWAY DECKING PLATES FOR X-ONE

ACCESS RAMPS FOR X-ONE

STORAGE TROLLEY FOR X-ONE

ADAPTATION NAJA SUR LYNX I

SET OF 4 CLAMPS FOR X-ONE

2 OPENING WHEEL SUPPORTS FOR X-
ONE

TILTING DECKING PLATES FOR X-ONE

RUNWAY DECKING PLATES FOR X-ONE

400V



380-400V- 3 ~
Triphase

INSERTION KIT X-ONE INSERTION KIT X-ONE

. \

X-ONE Lifting Table Only X-ONE NORDIC - Evolved in X-One Entry :
X110.3900.x

X-ONE Complete Set VEGAMAX 6000MM

PULLING UNIT AppU Lifting Table & X-One @ ZINC SCREW HM 6X20 CL8.8
Lifting Table

ZINC SCREW HM 10X50 CL8.8 ZINC SCREW HM 10X70 CL8.8



et

NUTS HM22 CL8.8 NUTS HM24 CL8.8

NUTS HM24 CL10.9 ACCROCHE LAKUDA (PEINT)

)

NUTS HM39 CL8.8 WHEEL SUPPORT




ZINC SCREW HM 12X30 CL8.8

gl

ZINC SCREW HM 20X80 CL8.8

ZINC SCREW CHC 8X16

i

ZINC SCREW CHC 8X50

——

ZINC SCREW CHC 8X90

(————

OUTSIDE CIRCLIP Diam 12 mm

VIS HM 14/150X190 CL8.8

ZINC SCREW CHC 8X10

e

ZINC SCREW CHC 8X25 DIN 912

i

ZINC SCREW CHC 8X60

——

VIS TFHC 8X16 CL10.9 DIN 7991

e

NUTS HM4 CL8.8

O



NUTS HM5 CL8.8

NUTS HM8 CL8.8

NUTS HM10/125

NUTS HM12/125

NUTS HM14 CL8.8 ZINGUE

NUTS HM6 CL8.8

NUTS HM10 CL8.8

NUTS HM12 CL10.9

NUTS HM12/150

NUTS HM14/150

NUTS HM18 CL8.8

O



RUNWAY DECKING (615 X 464 X 38) RUNWAY DECKING (1263 X 426 X 38)

RUNWAY DECKING (464 X 387 X 38) STEEL RUNWAY DECKING

GROUND PLATE for lifting table LYNX II MINI RAMP for X-Trac lifting table

SILL CLAMPS for Lifting Table X-One & X- UPPER PAD for LIFTING TABLE
Trac

LOWER PAD for LIFTING TABLE TAMPON CAOUTCHOUC (160x120x30)




SECURITY NUT M6

STICKER "CELETTE" 750 mm X 78 mm

STICKER "CELETTE" 280 mm X 200 mm

SYSTEM APPU (TABLE + EQUERRE)
(replaced by X1APS.3800)

CYLINDRICAL CAP of Diam 28

SECURITY NUT M16

STICKER "CELETTE" 1390x140 mm

STICKER "CELETTE" 290 mm X 100 mm
WHITE

SYSTEM APPU DOUBLE ENTREE
(Replaced by X1APS.3800)

SQUARE CAP of 30



SQUARE CAP

GREY ELECTRIC CABLE 7G1

OILTINof1L

GROUPE POMPE + ELECTROVANNE DE
DECHARGE

ELECTRONIC CONTROL CARD

SQUARE CAP of 40

FOURRURE 6X4 POUR TUBE SOUPLE
DIAM 6

OILTINof 5L

2]

CAPOT NOIR MECANOSOUDE CENTRALE
LYNXII

GROUPE HYDRAULIQUE COMPLET POUR
CENTRALE




TEMOIN VERT DE TENSION POUR RESERVOIR CENTRALE LYNX II
CENTRAL LX02

TOLE AVANT DE CENTRALE LYNX BRAS DE LEVAGE POUR LYNX II
R
s Ty
JEU DE TAMPONS CAOUTCHOUC MORS 20X10 LG 150 (ZINGUE)
*+J <2 e e
b P
RESSORT COMPRESSION BALL BEARINGS 6201EE

AW

TUBE SPIRALE POLYU.6X4 NU BLEU LG. TUBE SPIRALE POLYU 8X6 NU BLEU
4M LG.2M
PIN diameter 10 + WIRE BROCHE diam14:B77B+CABLE

B70A+GOUP.



\
\ )
PIN diameter 18 + WIRE
—
/ \
=
w“ L /

SECURITY Kit for X-One (9176.05)

X-Trac NORDIC LIFTING TABLE
X-Trac BASIC

L(ﬁ.

TABLE ELEVATRICE X-Trac RAPID

T

=
¢
\
K /
\ .. Y /*
-

DRIVING RAMPS for X-ONE & X-TRAC

X-Trac LIFTING TABLE

~d

L=

SEVENNE BENCH LIFTING KIT for X-Trac
Lifting Table

X-Trac Lifting Table Only

L(ﬁ

X-ONE version AppU
T, 5
ﬁ, Wit

R 1
= Sy



DOUBLE METAL DUCKS KIT

X-ONE HIGHER SECURITY

Set of 2 RIGID BASKET for X-Trac Lifting
Platform

.
\Q

Set of 2 TILTING RAMPS for X-Trac Lifting
Platform

X-ONE Storage Accessories on wall

-4

.
72
i,
{

LAKUDA AXEL SPECIAL SREW

Set of 2 OPENNING BASKET for X-Trac
Lifting Platform

Set of 6 MINI RAMPS for X-Trac Lifting
Platform

~

ESN

PN
NS
&




SLIDING TRACKS for X-Trac Lifting
Platform

NAJA adaptation for X-Trac lifting table

7

Ve, /
Han
e

-3

SLIDING TRACKS for X-Trac Lifting
Platform

Adaptaion wedge for LYNX pulling unit on
X-One & X-Trac Lifting table

2 Fix decking plate for X-Trac Ingroud
version

LIFTING KIT via VEHICLE JACKING
POINTS for INGROUND X-Trac Lifting table
(Evolve in XT14.LEV.02)

Adaptation KIT for NAJA rail ONLY for
Lifting Table X-Trac

SLIDING TRACKS for X-Trac Lifting
Platform

Lifting arm per anchoring point for X-Trac
Inground version (Evolution of
XT14.LEV.01)

2 Suspension unloader for X-Trac
Inground version



e

Set of 6 mini ramps for X-Trac Inground In-Ground X-Trac Lifting Table version
version

X-Trac Pulling Unit LATERAL PULLING ACCESORY for X-
TRAC Lifting table

.l

CABLE 4 X 0.5LG 11 M (KIT TURBI X ONE) PNEUMATIC GROUP SOLENOID VALVE

X-ONE ENTRY VERSION DRIVE-ON & M8 BENCH LIFTING KIT for X-Trac Lifting
WHEEL OFF Table

-~y - E
R4 '%’

CORBEAU AVEC PERCAGE (PEINT) CORBEAU AVEC PERCAGE (PEINT)



PLAQUE ARRET CHEMIN ROULEMENT

(PEINT)

RAMPE GRIFFON XL (PEINT)

X-ONE ENTRY

X-ONE ENTRY BASIC

CORBEAU AVEC ACCROCHE (PEINT)

CORBEAU AVEC ACCROCHE (PEINT)

X-ONE ENTRY DRIVE ON

X-Trac Lifting Table Double Entry




VEGAMAX 6450MM AIR JACK DOUBLE-LAYER

_—
_, =
~
INSTALLATION FORMATION X-Trac
Add to Cart
SECURITY NUT M14 WEDGE
SET OF 4 ANCHORING CLAMPS SET OF 4 ANCHORING CLAMPS

e
R
Vit



Car Body Quick Straightening Workstation

Celette X-One

NUTS HM12 CL8.8

SECURITY NUT M10

ApxaHrenbck (8182)63-90-72
AcTtana (7172)727-132
AcTpaxaHb (8512)99-46-04
BapHayn (3852)73-04-60
Benropoa (4722)40-23-64
BpsiHck  (4832)59-03-52
BnagmBocTtok (423)249-28-31
Bonrorpaa (844)278-03-48
Bonorga (8172)26-41-59
BopoHex (473)204-51-73
EkaTtepuHbypr (343)384-55-89
WBaHoBo (4932)77-34-06

WxeBck (3412)26-03-58
WUpkyTck (395)279-98-46
KasaHnb (843)206-01-48
Kanuuunrpap (4012)72-03-81
Kanyra (4842)92-23-67
KemepoBo (3842)65-04-62
KupoB (8332)68-02-04
KpacHopap (861)203-40-90
KpacHosipck (391)204-63-61
Kypck (4712)77-13-04
Nuneuk (4742)52-20-81

Kuprusua (996)312-96-26-47

X-Trac NORDIC LIFTING TABLE

RUNWAY DECKING (655 X 464 X 38)

SECURITY NUT M12

Marnutoropck (3519)55-03-13
MockBa (495)268-04-70
MypmaHck (8152)59-64-93
Ha6epexHble YenHbl (8552)20-53-41
HwxHuin Hosropopa (831)429-08-12
HoBoky3Heuk (3843)20-46-81
HoBocubupck (383)227-86-73
Omck (3812)21-46-40

Open (4862)44-53-42

OpeHbypr (3532)37-68-04

MeHsa (8412)22-31-16

Poccua (495)268-04-70

Mepmb (342)205-81-47
PocToB-Ha-[loHy (863)308-18-15
PasaHb (4912)46-61-64
Camapa (846)206-03-16
CaHkT-lNMeTepbypr (812)309-46-40
CapaTtoB (845)249-38-78
CeBactononb (8692)22-31-93
Cumdpepononb (3652)67-13-56
CmoneHck (4812)29-41-54
Coum (862)225-72-31
CraBpononb (8652)20-65-13

KazaxcTaH (772)734-952-31

https://celette.nt-rt.ru || cfe@nt-rt.ru

CypryTt (3462)77-98-35
TBepb (4822)63-31-35
Tomck (3822)98-41-53
Tyna (4872)74-02-29
TiomeHb (3452)66-21-18
YnbAHoBCK (8422)24-23-59
Ydpa (347)229-48-12
XabapoBck (4212)92-98-04
YenabuHck (351)202-03-61
Yepenosey, (8202)49-02-64
flpocnaBnb (4852)69-52-93


mailto:cfe@nt-rt.ru
https://celette.nt-rt.ru



